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Directions : Answer the following questions

by selecting the most appropriate option :

1.

Present day education cuts off the
man from life because

(1)
(2)

it is not an integral part of life

it is unable to provide bread and

butter to man
(3)
(4)

it'is unable to provide job to man
it is unable to fulfill the basic

needs of a man

According to modern concept of
teaching, teacher should play mainly
the role of a

(1) Philosopher
(2) Friend

. (3) Working partner

(4) Instructor

Which source will provide maximum
and up-to-date information about a
subject ?

(1) Encyclopaedias
(2) Internet
(3) Latest academic journals

(4) International conferences
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4, Some students of your class have
become inattentive; which strategy
would you use to regain their attention ?
(1) A brief physical activity

the

(2) Suspending class  for

sometime
(3) Asking children to be attentive
(4) Sending the class out for games

5. When a teacher enters in the class
room for the first time he should talk

about

(1) school building

(2) school headmaster
(3) textbook

(4) himself and students

6. The education system developed by

Mahatma Gandhi is known as

(1) Basic education system

(2) Vocational education system
(3) Child centred education system

{4) Handicraft education system
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10.

A

Which of the following acts of the
teacher does not help in creating
proper learning environment ?

(1) Providing the children with
feeling of security

(2) Giving the children sense of
freedom

(3) Allowing children to criticize
" other children

(4)

Making children fearless

Which of the following is not the
cause of truancy of students ?

(1) Uninteresting school programme
(2) Teacher’s partial behaviour
(3) Too much home work

(4) Too many holidays

When a teacher gives the learner the
sense of success, he is using

(1) the law of readiness
(2) the law of practice
(8) the law of effect

(4) the law of mental set

According to Naturalism, the centre of
education should be

(1) Teacher

(2) Child

(3) Curriculum

(4) None of the above
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11.

12.

13.

14.

A student of your class is in the habit
of telling a lie. How would you deal
with him ? |

(1)
(2)
(3)
(4)

tell him not to tell a lie

punish him

just ignore him

will take him into confidence and

counsel

The best provision for the education of
the talented children is

(1) Ability grouping
(2) Giving double promotion
(3) Enriching programme

(4) Providing special schools

As per National Policy on Education,
1986 percentage of national production
must be invested on education

(1) 6% (2) 10%
(3) 4% (4) 3%

School administration assigned you
some extra classes which are meant
for weak students. What will be your

reaction as a teacher ?

(1) Protest and not take classes

(2} Request reconsideration of
decision

(3) Tell student to prepare on their

own

(4)

Accept it as your responsibility
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15.

16.

17.

3

A

Study the following statements about
lecturing as a method of teaching :

A. Itis an efficient method of giving

information.

B. It is an efficient way of making
students think critically.

Which of these statements is/are
correct ?
(1) Aonly (2) Bonly

(3) Both A & B (4) Neither A nor B

Before starting to teach a teacher .
must

(1) make the students stand

(2) make the students mentally

ready
(3)
(4)

clean the black board

ask the students to keep silence

While teaching if you realize that
what you have taught is rot correct,
you would

(1) leave the topic unfinished and
shift to another
tell the students that it was a

mistake and correct it

divert the

students

(2)
of the

attention

(4) Scold students

P.T. O.
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18. Salim is very good in Music but is not

19.

20.

able to do well in Mathematics. As a

teacher of Mathematics, how will you
handle Salim ?

(1) Tell him that Music does not have

a future

(2) Tell him to leave Music and study

Maths
(3) Call his parents and talk to them

Tell ham that he can do well in
Mathematics

(4)
and explain the

Mathematical concepts to him

A talented child can not be identified
through observation because

(1) observation is not an objective .

technique

(2) observation is a  subjective
technique |

(3) observation is used by those who
are expert

(4) All of the above

While delivering a long lecture what a
teacher should do ?

(1) Should break in between
(2) Should speak continuously
{3) Should ask questions in between

(4) Should change own posture
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21.

22.

23.

A

A girl of yobur class is interested in
sports and wants to pursue her career
in sports. What will you suggest
her ?

(1) Girls have no future in sports

(2) She should put in hard work to

achieve her ambition

(3) Ask her to be focused only in

academics

(4)

Girls can not excel in sports as
they are not physically strong

Which is not true about intelligence ?
(1) Intelligence is the ability to learn

(2) Intelligence is the ability to solve

problems
(3) Intelligence is the ability to work
" hard '

(4) Intelligence is the ability to adapt

to novel situation

The most effective evaluation method
is

(1) Annual examination method
(2) Examination wjt;h book method
(3) Semestral method

(4) Objective question paper method
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24.

25.

26.

Match the following :

A. Slide Projector (1) Visual mean
B. TV

C. Chart

(i1)Audio mean
(ii1) Audio-visual mean

D. Voice Recorder iv)Projective mean

A B C D
(1) (v) (111) (1) (ii)
(2) @{v) (i1) (111) (i)
(3) (iii) (iv) (i1) (1)
4) @ (11) (1i1) (iv)

The term 'comprehensive evaluation'
means

(1) Evaluation conducted at several

points of time

(2) Evaluation by a group of teachers

(3)

Several test for long duration

(4) & co-

curricular aspects of pupil growth

Evaluation of curricular

The
serially is developed in the child when

capacity to arrange objects

he is in

(1) Sensory motor stage

(2) Pre-operational stage

(3) Concrete operational stage

(4) Formal operational stage
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61.

62.

63.

64.

‘He hardly works.'

The underlined word means

(1) arduously (2) mostly

(3) scarcely (4) strenuously

Choose the correct word for the
following phrase :

'Fear of foreigners'
(1) Hydrophobia
(2) Xenophobia
(3) Homophobia

(4) Claustrophobia

Give one word for ‘That which can be

eaten.’
(1) edible (2) chewable
(3) palatable (4) digestive

She had a headache; otherwise she

............... with me.
(1) would come
(2) would have come
came

(3)

(4) will come

Cat.-3/41

65.

66.

67.

68.

69.

Which sentence is incorrect ?
(1)
(2)

I left without any one knowing.

I hope you will excuse my leaving

early.

(3) As he was going up the hill, he

saw an old temple.

(4) 1 dislike your behaving in this

way.

Complete the given sentence :

"The human body is like an engine. It

requires fuel to ......

(1) work (2) keep it going

(3) runfrom  (4) keep it on action

He ............ not oppo‘se me,
(1) dare (2) dares
(3) did dare (4) was dare

Choose the correct Article for the
blank : o

'‘Give me ........ yellow teapot which is
on the table.’
(1) a (2) an
(3) the (4) Zero article
They told me that he ........ in Jaipur.
(1) were (2) was
(3) will be (4) can be
P.T.O.




70.

71.

72,

73.

74.

75,

His score is higher than .........
(1) you (2) yours
(3) your (4) yourself

Choose the correct Pronoun for the
blank ;

'He is the only person ........ can help
you.'

(1) who (2) that

(3) he (4) which

Choose the correct Preposition for
the blank :

'One must abide ........

one’s promise’.

(1) in (2) by

(3) for (4) to

Thave been here ............... Monday
(1) from (2) since

(3) for (4) till

Change the Voice

sentence :

‘We were let go.’

(1) They let us go.

(2) We were let to go.

(3) They were let us to go.

(4) Let us go.

Which word is wrongly spelt ?

(1) believe (2) relieve

(3) brief (4) decieve

Cat.-3/41
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Directions : Read the passage given below
and answer the that  follow
(Q. Nos. 76 to 85) by selecting the most
appropriate option :

questions

Conversation is indeed the most casily
teachable of all arts. All you need to do in
order to become a good conversationalist is
to find a subject that interests you and your
listeners. There are, for example, number
hobbies to tack But  the
important thing is that you must talk about

less about,

the other fellow’s hobby rather than your
the
popularity. Talk to your friends about the

own. Therein lies secret of your

things that interest them and you will make
for

charming wit and a brilliant mind. There is

your reputation good fellowship,
nothing that pleases people more than your

interest in their interest.

what

subject to avoid, as what subjects to select

It is as important to know
for good conversation. If you don’t want to
be set down as a wet blanket or a bore, be
careful to avoid certain unpleasant topics.
Avoid talking about yourself, unless you are
asked to do so. People are interested in their
problems, not in yours. Sickness and death
bore everybody. The only one who willingly
listens to such talk is a doctor, but he gets
paid for it. To be a good conversationalist
you must know not only what to say but how
Don’t

overemphasize your own happiness. Be

to say it. Be civil and modest.
mentally quick and witty, but don’t hurt

others with your wit.



Finally, try to avoid mannerism in your
conversation. Don’t bite your lips, or click
your tongue, or roll your eyes, or use your
hands excessively as you speak.

76. The secret of your popularity lies in
(1) cultivating good hobbies

(2) being able to converse about what
is of interest to the listener

(3) having a knowledge about a large
variety of hobbies '

(4) talking about your hobby

77. The secret of becoming a good

conversationalist is
(1) talking about problems

(2) avoiding mannerism in

conversation
(8) using your wit

(4) knowing what to say and how to
say it

%8. A doctor is the only one who readily
listens to conversation about sickness

because
(1) it is his job and he earns from that

(2) he is not interested in anything’s
else

(3) sickness and death interest
everybody

(4) he is a kind person

Cat.-3/41

(17)

79.

80.

. 81,

82.

A

Courtesy and  politeness are
recommended through which word in
the passage

(1) willingly
(2) civil
(38) overemphasize

(4) None of the above

To become a good conversationalist,
you need to

(1) find a good teacher

(2) find an interesting subject

(3) practice the art of conversation

(4) converse about what you and the
. listener find interesting

You should avoid talking about
yourself because

(1) you are a bore

(2) it will make you appear
unpleasant

(3) you don’t know how to choose the
subject of a good conversation

(4) people are not interested in you
or your problems

‘Mannerism’ in the passage means
(1) not hurting others with your wit
(2) having good manners

(3) gesture or way of speaking typical

to a person

(4) using polite language

P.T.O.




83.

84,

85.

86.

Which word in the passage is the
opposite of ‘arrogant’ ?

(1) witty
(2) mentally quick
(3) conversationalist

(4) modest

What pleases people most is

(1) your  reputation for  good
fellowship

(2) your clever use of language

(8) your taking interest in what is of
interest to them

(4) your brilliant mind

Which word in the passage means to
strongly stress that something is
particularly important ?

(1) overemphasize
(2) mentally
(3) excessively

(4) mannerism

after ten years in the

business.

(1) wise

(2) wisest
(8) more wise

(4) wiser

(18)

87.

88.

89.

90.

Choose the correct Adverb for the
blank ;

"The sun ........ rises in the east'.
(1) sometimes
(2) often

(3) always

(4) rarely

The dumb ............ not speak.
(1) has (2) does
(3) 1is (4) do

Choose the correct Phrase for the
blank :

'The craft in which 1 sailed rapidly

.......... the open sea.'
(1) made out
(2) made up
(3) made for
(4) made off

......... he is satisfied with

his situation.

He is poor,

(1) yet (2) but

(3) so (4) while

Cat.-3/41
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HH - IV/PART - IV

qIRT9 / COMMERCE
91. H-H YHT H B 7T 8 7 91. Which is not the function of
Management ?
(1) E7TeH (2) SRR (1) Organization (2) Motivation
(3) E= (4) |4 » (3) Controlling (4) Cooperation
92, dENH &9 B [T oMM SEr @ 92, How many reserved industries are
e fhat § 7 there for the public sector ?
(1) 08 (2) 03 (1) 08 (2) 03
(8) 21 (4) 07 (3) 21 (4) 07
93. ¥% FW A T W g WRuE 787 93. Bill discounted with a bank but nof
gy, 5 matured is
(1) =Ry a3 (1) Current liability
(2) @iy i (2) Contingent liability
(8) =g | (8) Current assets
(4) =g YA (4) Current payment
94. [T e NiSEIE 9 BT 2 94. The balance of the petty cash book is
(1) o™ (2) wRE (1) Income (2) Liability
(3) G g (4) TH @Al (3) An Asset (4) An Expense
95. X & & wH | F oA B 95. RDBMS stands for

(1) I sEEY FeHTe ©EA
(2) QI SRy TR Ry

(3) AT SEEY Aisive WEd

(4) R sy Bnwmve Red

Cat.-3/41

(1) Raw Database Management Style

(2) Relational Database Management

System
(3)

Rational Database Management
Style

(4) Record Database Management

System




96.

97.

98.

99.

100.

A H TG B

(1) F& M HI-[amd
(2) =T

(3) JEI ud iy
(4) MUY & 9y

Tl A & AR & 9% @i § §
AEHT F YA BT T, 3H AN U
o ferEr st

(1) &% @ o

(2) AEFHT @ §

(3) T =W A

(4) AR B g § TE ReEmn s

SEEE W TR ¥ UFo UHo UHH
(1) 399 ®HE S d s9E 9§
(2) a4 =T qrell g9 e &

(3) BT QT Ty FRAT S weRdT 2

(4) ST @l

YT W ©

(1) eafTa =mr

(2) FTHE F: @

(3) arEiia® @

(4) I § F HE 7l

4 SUHIRT S PRl GERgaar oty

(1) R s Tl
(2) feHs aey

(3) g ey
(4) Far =l aRgy

Cat.-3/41
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96.

97,

98.

99.

100.

Meaning of Business is

(1) Sale & Purchase of Goods
(2) Commerce

(3) Industry and Commerce

(4) Trade and Commerce

sole

bank

the

business

Income Tax paid by

proprietor  from
account. This is debited to
(1)
(2)
(3)
(4)

Bank Account

Income Tax Account

Capital Account

Not to be shown in the business

books

MS Access is a popular Database
Management System because of

(1) Easy creation of fcrms

(2) Basy creation of Data tables

(3) Retrieval of Data

(4) All of the above

Revaluation Account is a
(1) Personal Account
(2) Nominal Account
(3) Real Account

{4) None of the above

The consumer products which can
normally be used for longer period,
are called

(1) Non-durable Goods

(2) Durable Goods

(3) Useful Goods

(4) Service Goods



101.

102.

103.

104.

105.

106.

T HEER & YA & g9 99NN B Tl
F gfg e W @ I ug F forer
S -

(1) [W eEr & & e 3
(2) g @ A

(3) "= @/ |

(4) ©fy @ |

T A (Teeye) aeE 7E 2

(1) AR @) B

(3) WX (4) W™

= & ¥ - o FEee 8 g
T T ?

(1) A=A (2) 9

(3) ARSAFGEl  (4) FeleTaEHd

‘IR v vEy | I @ Mg
BRI

(1) T H (2) THE &

(8) w&ied H o (4) Gl

T IEaEs B9 § UERr 8 99l 8
(1) &

(2) &l

(3) WERERI % wedly |
(4) S d & B T

A% PE oEd o2 A AEER @
forete

(1) P & orgamy # o

(2) =T & A IT AT

(8) =aH

(4) FHHEYH

Cat.-3/41
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101.

102.

103.

104.

105.

106.

A

On the admission of a new partner
increase in the value of asset is
debited to

(1) Old Partners Capital A/c
(2) Revaluation Account

(3) Asset Account

(4) Goodwill Account

Which of the following is not an
output device ?

(1) Monitor (2) Printer

(3) Plotter (4) Mouse

Which of the following feature does
not related to planning ?

(1) Continuous (2) Deligation

(3) Futuristics (4) Pervasive

In 'Management by objectives' tilere is
determination of objectives of

(1) Enterprise (2) Unit

(3} Manager (4) All

A minor can be a partner in firm
(1) Yes
(2) No

- (3) By the consent of Partners

(4) None of the above

In the absence of an agreement,

partners are entitled to

(1) Profit share in capital ratio

(2) Interest on loans and advances
(3) Salary

(4)

Commission




A

107.

108. "

109.

110.

111.

= d 9 $9-A @ T IREES QY
T g gar 8 7

(1) oTg-=rg @
(2) W% T YT @
(3) I A @

(4) SRET H § HIE TR

vfcreqat ooy, 2002 [ wirenfd
T A BT B

(1) wq & @ 9 U, 1969
(2) deH UF, 1999

(3) ¥ 3% TeH UFe, 1930
(4) HTYHR SICHRE Uae, 1986

qee 90 q9E e We AW U °
fewrn wg ?

(1) %9 arE
(2) T TR
(3) gda wH
(4) AT o< ==

T ol A e @ A g
Bl &
(1) 02
(3) 10

SN Tae & SR

(2) 07
(4) 05

(2) ®AA
(4) 2@

(1) 24
(3) =&l

Cat.-3/41
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107.

108.

109.

110.

111.

Which of the

mostly begins

following accounts

with an opening

balance ?

(1) Income and Expenditure A/c
(2) Receipt and Payment Account
(3) Both of the above A/c

(4) None of the above

The Competition Act,
replaced the

2002  has

(1) MRTP Act, 1969
(2) Trademark Act, 1999
(3) Sale of Goods Act, 1930

(4) Consumer Protection Act, 1986

Which item is shown on the debit side

of a trial balance ?

(1) Purchases Return

(2) Rent Outstanding

(3) Prepaid Expenses

(4) Interest received in advance
Minimum number of members to form
a private company is

(1) 02 (2) 07

(3) 10 (4) 05

The founder of Scientific Management

is
(1) Terry (2) Fayol

(3) Maslow (4) Taylor



112,

113.

114.

115.

116.

BIET SIS (dST) HI ARIE FH BN

(1) e > 45 > B > e -
HEA — SEH

(2) 93T > [T - TEd > Hie -
ﬁiﬂéagiaa'ﬁ

(3) foe > CIELEESY HiTg —> g —

R — greE|
(4) 9 — e - REE - 9. -

FHEA —> SIEEd

IS % T H ey &
(1) URes (2) effvard
(3) EEF  (4) v @l

3y A H SRR wioEldd 2l
>

e

(1) ?ﬁ'ﬂﬁm?ﬁff
2) FEl F §
(3) wew gt ¥

(4) RN |

T 9491 2

(1) T g9l

(2) UH HferEm 9=

(3) & ffrg @1 g

(4) SN ¥ g Fis A

IO TR AR L fear
o

(1) 1992 ¥
(3) 1990 #

(2) 1986 H
(4) 1996 §
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112,

113.

114.

115.

1186.

A

The ascending order of Data

hierarchy is

(1) Bit —» Byte — Field — Record

— File — Database

(2) Byte —» Bit — File —» Field —»

Record — Database

(3) Bit —» Byte — Field —» File —»

Record — Database

(4) Byte — Bit — Record — Field —»

File — Database
In the modern age Management is
(1) Voluntary (2) Compulsory

(3) Necessary (4) Not compulsory

Right of transfer of shares is

restricted in

(1) Public Company
(2) Private Company
(3) Cooperative Society
(4) Partnership

Indian Rupee is

(1) A Hundi

(2) A Promissory Note
(3) A Bill of Exchange

(4) . None of the above

The Consumer Protection Act was
introduced in
(1) 1992 (2) 1986

(4) 1996

(3) 1990




117.

118,

119,

120,

121.

122,

(1) =R @l
(2) arEIE® @

(3) FAHHAE & Erdl

(4) HBEH T =
FFgET & qr e H | 2

(1) 7

(2) s

(3) TFoiEs

(4) SUOET H ® I AN

e B & foEed W, "EErl & el
g 9% Y IR 2

(1) S @rd 4§

(2) e @ |

(3) F@EM q

(4) SPR®S @ F

T HhE AR B
(1) T HEER
(2) U FHUAl
(8) UH U AN
(4) =8 4 g 78

‘geiy YOl fERETT A ST g
o

(1) 1750% " (2) 1850 & @®

(3) 1950 % TE (4) 1930 & ==&

g feg WRAR E@E H Fel @
B ®

(1) difya =it

(2) orHiftR A

(3) Fg i =@l

(4) HgH =M

Cat.~3/41

(24)

117.

118.

119,

120.

121,

122,

‘Salary Prepaid' account is a
(1) Personal Account

(2) Real Account

(3) Nominal Account

(4) Fictitious Asset Account

Which of the following is a limitation
of a Computer ?

(1) Speed

(2) Accuracy

(3) Decision Making

(4) None of the above

On dissolution of the firm, partners
capital accounts are closed through

(1) Drawings Account
(2) Realisation Account
(3) Loan Account

(4) Bank/Cash Account

An 'artificial person' is
(1) A Partner

(2) A Company

(3) A Sole Proprietor
(4) None of them

The evolution of 'System approach of
Management' was after

(1) 1750 (2) 1850
(3) 1950 (4) 1930

The 'Karta' in joint hindu family
business has

(1) Limited Liability

(2) Unlimited liability

(3) No liability

(4) Joint liability



123.

124,

125,

126.

127,

GoiiReer @t & 4 fean g9 § gReRo
frifer &¢ fear s =R ?

1 9ofkad (@ sofRwH
3) 60fcFd (49 120RF H
el grEl $ i dwieT AE §

(1) To WHo -6 (2) Uo UHo -3
(3) Wo UHo -2 (4) Wo THo -10

‘Tes 99 TOd 9RY oTREa R
‘FFeT’ Y eFT H Thd & ¢

(1) 60
(2) 69
(3) 64
(4) e i

qE AN TR Mgl dEEEl & aled
wE IUET § =Y T, ST S 8

(1) SRFSF I
(2) feds @& .
(3) aqftTTEs e

(4) TS I

fave M W = A 8 S aigls

yepe B gl ® 7

(1) & @ ¥ T $a O T
LUERKICR

(2) TOUC S TG UH T Bl AT
erael e § @ S

(8) TEEE YWE W A () T

T
(4) SUUFT weft

Cat.-3/41
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123.

124,

125.

126.

127.

A

Prospec_tus should be issued from its
date of registration within

(1) 90days. (2) 30days

(3) 60 days (4) 120 days

Accounting Standard for fixed assets
is

(1) AS-6
(3) AS-2

(2) AS—3
(4) AS-10

When entering 'field name', how
many 'characters’ you can type in
maximum ?

(1) 60

(2) 69

(3) 64

(4) Any number of characters

The industries which are connected
with extraction and production of
natural resources are known as

(1) Primary industries
(2) Secondary industries
(3) Commercial industries

(4) Tertiary industries

Which of the following errors are
revealed by trial balance ?

(1) Wrong amount entered in a

ledger account

(2) Omitting writing the balance of

an account in the trial balance

(3) Wrong totalling of subsidiary

books

(4) All of the above

P.T. O.
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128.

129,

130.

131.

X, Y 91 Z 9EER & R @y e
TR ST 2 1: 1 81X & gg 30
S, 2010 H & IR ¥ AR dWiEA ag
31 =R, 2010 & 39 H @19 48,000
Fo & ¥ X B @ H fhaw qfsr s
P AT ?

(1) 12,000 Fo
(3) 6,000 o

(2) 24,000 Fo
(4) 4,800 To

T ER UK YA ST S i @

RURIECIE IS el g

(1) ®EERl & QU+ @ [f9ee @
SRSl

(2) Wi Goll STum

(3) e & A9 @9 R{ensH w
GRS

(4) sfaq T eaa

it @re F A § oW |

(1) J@ET &) & 9 diafaa T8 2l
'

(2) I@ET WX F 9 afafad 2 g

(3) T WX & g sl ©

(4) IR H g g T

W, &l ok W F 79 W AW

OIS ST HRST 2:2: 1 B TR F
SEHIT T H AG AT @ (g

FPIE 3 ¢ 2 W g AH WK ST
R

1 2:1 @ 1:1

(8) 3:2 (4) 1:2

Cat.-3/41
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128.

129.

130.

131.

X, Y and Z are partners sharing
profits in the ratio of 2 : 1 : 1. X died
on 30th June, 2010 and profits for the

accounting year ended on 3lst
December, 2010 were Rs. 48,000.

How much amount of profits will be
credited to X's account ?

(1) Rs.12,000 (2) Rs. 24,000

(3) Rs.6.000 (4) Rs. 4,800

Joint life insurance policy amount
received by a firm is distributed in

(1) Old profit sharing ratio of
partners

(2) Opening capital ratio

(3) New profit sharing ratio of
partners

(4) Closing capital ratio

Fixed costs are those costs which

(1) do not wvary with level of
production

(2) vary with level of production

(3)

increase with level of production

(4) None of the above

The old profit sharing ratic among
Rachit, Satish and Ram were 2 : 2 : 1.
The new profit sharing ratio after
Rachit's retirement is 3 : 2. The

gaining ratio is
(1) 2:1

(3) 3:2



132.

133.

134,

135.

136.

Ay gifat @ A RamEr s R
(1) EieamEar H 9

(2) To7 FHHT TR

(3) W@l H oI ,

(4) ERT A1 THEYA B IR

I JuE AR T_H AR
(1) 12 o0, 1998

(2) 30 S9edl, 1992

(3) 131, 1992

(4) 303, 1990

‘forofg faft el & Ty 989 B 98
H B

(1) dIeY UBo T &
(2) SIS 3o T &
(3) BTH BA &

(4) 31¥o THo T[T &

g @@ § @ @ @ R R oaR
Y8 Tyl demar 2 7

(1) T S @
(2) god @wr

(3) @I @l

(4) e @

T @ P G| H T AW R

Fl &

(1) 7 & RE G o

(2) 9@y & AE = T TE W
CIEEE]

(3) @Y F ol ThS G

(4) AT B Y | IS (Ew) w
¥ 9
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132.

133.

134,

135.

136.

Contigent liabilities are shown due to
(1) Convention of conservation

(2) Full disclosure convention

(3) Convention of Materiality

(4) Convention of Consistency

SEBI was given statutory status on
(1) 12th April, 1998

(2) 30th January, 1992

(3) 1st April, 1992

(4) 30th June, 1990

'Decision is the selection among
different alternatives' this statement
is of

(1) Peter F. Drucker

(2) George R. Terry

(3) Henry Fayol

(4) R.S. Davar

From which account one person can
draw money as many times as he
likes ?

(1) Fixed Deposit Account

(2) Saving Account

(3) Current Account

(4) Recurring Account

Debit balance of receipt and payment
account indicates

&)
(2)

profit earned during the year

the excess of expenditure over
income of the period

the total cash ‘payments during
the period

cash in hand and bank balance on
the date of calculation

(3)

(4)

. P.T.O.




137.

138.

139.

140.

141.

e § g fadios dasvr aa-is 8

(1) T=q TRy 39
(2) U9 3159

(3) g o=l JEr
(4) ST a4l

184 o] o
afcrarest AT o
(1) =g a8 3

(2) TEH A

(3) Mo f4gd I

(4) s= A

d% HagE fFaver U w9 999 ol
g §81 F e Ay foar o, @ “IF

it R T wy wwg sraly A aRg
TE R T, @

aed J=Ee H

(1) SfEr S
(2) =T SFRAT
(3) ®F HAENT 8 Rear A
(4) 37 9§ F1E Tl

gego o 3o AE H [
(1) otd, 1995 &

(2) WE, 1995 ¥

(3) 99adl, 1995 @

(4) El, 1996 9

Y & W/ 2
(1) 5

(3) 3

(2) 2
(4) 6

Cat.~-3/41
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137.

138.

139.

140.

141.

Which of the following is a secondary
storage device ?

(1) Random Access Memory

(2) Pen Drive

(3) Read Only Memory

(4) All of the above

18th the
'entrepreneur' was introduced by

In term

century

(1) Richard Cantillon

(2) Allen

(3) R. Bittel

(4) Breach

When preparing a Bank Reconciliation
statement, if you start with a debit

then
"cheques issued but not presented

balance as per cash book,

within the period" are

(1) added

(2) deducted

(3) not required to be adjusted

(4) none of the above

W. T. O. came into existence in
(1) April, 1995

(2) March, 1995

(3) January, 1995

(4) January, 1996

Levels of Management are
(13 5 (2) 2
3) 3 (4) 6



- 142,

143.

144,

145.

146.

=1 4 9 39 seEg vEy uihEr @ o9
TEE? ‘

(1) SIET ST

(2) TRIHIT S

(3) iR FFBIT

(4) I H d FHg 74

et rd Ay v A T Y

(1) oigrEmal 3 foe
(2) Faias & R

(3) TEITw @ Rig

(4) FHaRE & R

arEErl iy s Er ™
(1) 1932 H (2) 1928 ®

(3) 1956 & (4) 1942 §

NGO 9=

(1) ¥ TEAed SR
(2) AT MR AR
(3) AorT @R oifeE
(4) 99 T AEREE

TP & 29 A, 2010 & UH AE H
S7afy @1 fomar T, sEa 39 fafy &

(1) 29, 2010
(2) 39w, 2010
(3) 49r€, 2010
(4) IR § | Fi3 T

Cat.-3/41

(29)

142,

143.

144,

145.

146.

A

Which of the following is not a
component of Database Management
System ?

(1) Data Dictionary

(2) Application Programs

(3) Accounting Transaction

{4) None of the above

The 'Gold Card Scheme' is announced
for

(1) Shareholders

(2) Exporters

(3) Importers

(4) Employees

Partnership Act formed in
(1) 1932 (2) 1928
(3) 1956 (4) 1942

The term NGO is

(1) Non Governmental Organisation
(2) Non Gaurantee Organisation

(3) National Governing Office

(4) Non Government Officials

A bill was drawn on 29th January,
2010 for one month. Its due date will’
be

(1) 2nd March, 2010
(2) 3rd March, 2010
(3) 4th March, 2010

‘ (4) None of the above




A (30)
147. &8 ¥ B UH AQFHT Al B ISE 147. Which is not an example of an
e 7 accounting policy ?
(1) ol ERafaEl # gedie (1) Valuation of Fixed Assets
(2) TIF B JriHA (2) Valuation of Inventories
(3) F=ar & EERen (8) Going Concern
(4) 3TN AH B IR (4) Treatment of Temporary Profits
148. =1 § & @9 7@ & ? 148. Which one of the following is correct ?
(1) o whmr — T8 W oA @ (1) Closing Stock — Cost of goods
AR + JREE EBar = &d sold + Opening Stock = Purchases
(2) Wiy TEfaar + ofwam welaar — (2) Opening Stock + Closing Stock
¥ T A A = Y — Cost of goods sold = Purchases
(3) ¥ T TG B AR + A @Al (3) Cost of goods sold + Closing
— YR BRE = 59 Stock  — Opening Stock =
Purchases
(4) FF T A H AEG — oAy (4) Cost of goods sold — Closing
A+ AREE Refoar = w5 Stock + Opening Stock =
Purchases
149. A U B T % # R 2 R G 149. A and B are partners in a firm with
FAI: 36,000 Fo Ud 40,000 Fo 2| C capital of Rs. 36,000 and Rs. 40,000.
. . . 1 .
é g & fqu e @ @ 3T 48,000 C was admitted for =3—rd share in
J .
Ho §Gﬁ 3w ¥ arr 3w @ ey & proﬁts and brings Rs. 48,000 as
e capital. Calculate the amount of
T ST goodwill of the firm
(1) 24,000%0  (2) 10,000 %o (1) Rs.24,000 (2) Rs. 10,000
(3) 20,000%0  (4) 16,000 %o (3) Rs. 20,000 (4) Rs. 16,000
150. UM TR © 150. Profession is related to
(1) #ar d (1) Services
(2) emEEraE TRy 4 (2) Business activity
(3) fafarean 9 (3) Specialisation
(4) Tl ° (4) Wages

Cat.-3/41



